H & 0l & AHS B Ml A

20238 =0ila eI AT SIXNF W ~ AT A=

NET HE XD
ZoloE PEed
gadgi=s RE2E N (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
AR HE X2t 18,138,810 17,523,200 615,610
Fo0E PERF 2,288,824 1,983,360 305,464
gagils 2829 N 170,219 148,604 21,615
245 A =& L XA 84,664 75,233 9,431
201 B2 AY| 45,044 37,360 7,684
01 A=R2teld| 21,560 11,560 10,000
OHZEHE L ASH 1,500 *4000H 600
OHFE L 2EH AOIA
5,500 *4007H4 2,200
ORlds &Y 100,000& 5 *103] 5,000
OAUSEA EE S 70,0003 203! 1,400
OFAZZE II=H| 2,560
o=Ze=28) 240,000 *4H 960
odsts S 33 400,000 x4H 1,600
OOt XEY TELNS HA=Z 8,800
OSgLA(E22) 8,800
-J|l& 300,000 *11JH 2 #23 6,600
-1 200,000& 111 2 +13] 2,200
OS0/2/& HIAUSE s ZAZ 1,000
Osg2AH(S23) 1,000
-J|l& 300,000& * 1 *23] 600
-1 200,000& *1H*23] 400
02 324l 23,484 25,800 A2,316
O0I1SE doli2E8= 54,000& 410 22,140
OHE AR EHIS LI 1,344
OLE=ADI 15,000, 0002 *8% 1,200
OLB= A 1,000,000 *8% 80
O2MAMIED| 800,000 *8% 64
203 PYR=&IH| 10,000 10,000
03 A F=AIHRFAIH| 10,000 10,000
OHTDIAL U YMBHS =7
10,000,000& 10,000
206 =4l 13,100 12,376 724
01 =Yl 13,100 12,376 724
OL= Jt2J| WAl 13,100
OJt2D] 5,000 *7007H4 3,500
OJ2I| NE(SZEE)
8,000 +1,0004 8,000
OEI=01 S(HEMALUE)
30,0002 x4 Z+504 600
OSZZ0ItH(Ot2]) WAl
10,000 * 10074 1,000
301 LPENSZ 1,320 1,320 0




2A:

A= X3

M Z0ipE pEed
el gEUXls PE2Y XY (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 1,320 1,320 0
OMEF 0ISEE23 29
10,0003 * 11 +63] 660
oNd+ F=UXXAZE e 29
10,0003 * 11 +63] 660
307 212+01& 15,200 14,177 1,023
05 2ItRIE = 15,200 14,177 1,023
O=gd4 Jt2J| A2l & EA
3,800,000& *42] 16,200
HE =d=X S8 39,500 29,139 10,361
201 Ler=23 | 24,700 21,104 3.5%
01 At2teltl 24,700 21,104 3,5%
OXYS=3 X208 298 IA=E
300,000 <4 = 12& 14,400
OEEIH4ITZH 2 1,900
OZA==g 25,0002 *3A1 2t 123 900
ozZzd 29 1,000,000& 1,000
O=UAY SA=SMdI| XMlblS
350,000 x 12 4,200
OTFUAY RAMRAIES (MM ¥ HASEE)
350,000 * 122 4,200
303 T&2 6,000 6,000
01 Z&3 6.000 6.000
094 AR HARNRRH HE
00,0002 x102+63] 6,000
405 KHoHF S| 8,800 2,035 6,765
01 MM ESFSHI 8,800 2,035 6,765
O=-UAE J1D] 2 ¥ WA 8,800
OHED(1760L) 3,800,000 *1CH 3,800
O=& 3,600,000 *1CH 3,600
o= 22 2 700,000 27K 1,400
AL AR EHH THE K12 46,085 44,232 1,823
307 gl2to| & 46,005 44,232 1,823
02 2B YAIHE A 46,055 44,232 1,823
OHs MOSXIEXES AFEXIRA
1,164,0002 1000 2 11,640
OoHES Mi==24dzl XA
1,164,0002 11002 12,804
OYs HIZAHAIIRARZE A 14,433
O 2 1,319,200 94 2 11,873
O204 2 1,279,6202 x204 2 2,560
Ost=I=&5HY HSE3| AN
582,000 x4H 2 2,328
OHSASU NH2ASAHH AIZBXIE
4,850,000 * 10 2= 4,850




2A:

X XH -
o=

N7 85Xl Dt
FOIOE A2

e ;—'\_'g_‘?‘_%q/\l’é* NsEF (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AYESAE JIs2ES 248,250 231,878 16,372
NETE 0eold 2 248,250 231,878 16,372
201 er23| 100 100 0
2 5234l 100 100 0
OOGIBI0I=0IAIE Biaty 282
100,000& %12 100
307 @I2t0| & 248,150 231,778 16,372
10 AlISXA2EE 22X 248,150 231,778 16,372
O=7&0eolE =24l 248,149,220 248,150
-8 D12 22, SH A5t 53,807 51,173 2,634
THE S =8 22,848 24,060 A1,212
201 el 16,548 18,260 A1,712
01 At2telt] 16,548 18,260 A1,712
OLE AEERE UM R 11,500
OdJl gF2 A 10,0003 x50 +23] 1,000
OFAl BREIAN 10,0002 502 +23] 1,000
OF2e: AldA=IA
10,0002 %100 +12] 1,000
OAIEAH & A 10,0002 100 +23] 2,000
O2l2dld AISZ AL
15,0002 3002 *12] 4,500
O2l2xd AF20AM
10,0002 x50 +23] 1,000
OgA=A 10,000 1002+ 12] 1,000
OF& Y2203 &0 M=
70,0002 +82] 560
O3S oy o oS8 1,488
OeIXItH 320,000 43 1,280
Oosg= 52,0008 42 208
os2agds s WA
3,000,000& 3,000
202 048l 4,800 4,800
01 2L A 4,800 4,800
O7dgFFa ol
20,0002 x10F x24& 4,800
405 AHAHE S 1,500 1,000 500
02 A bl 1,500 1,000 500
OSIHH (HEXEA) A
15,0003 » 1002 1,500
et SHZAL 5,063 4,833 230
101 @124H| 5,063 4,833 230
04 JIZtNZ22 NS+ 5,063 4,833 230
OSHZAL HFEX 2IFY 4,926
OAFE M Z= A 82,1003 18 »20! 1,642




2A:

A= X3

B F0I0HE PEed
e 28 D18 82, SH SEHS (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZg - MAHZEA
82,1003 x 1 »20 1,642
OALZ| ZZAL 82,1002 x1& =20 1,642
O42E JI2RY= 137
OnE:d 4,926,000 *1.75% 87
O4tiEe 4,926,000 * 1% 50
A1 ot AEER 25,896 22,280 3,616
201 eet23| 25,8%6 22,280 3,616
01 AtR2t2|HI 24,896 22,030 2,866
o=g JISEE & 88 1,700
Ogletz 5,000 »3000H 1,500
(OZNFSEN; 10,0002 +20H 200
OHIHINE LZ21=E 20,196
OsgAl 15,0002 x365+ 122 6,480
OXIgX 13,0002 +8152x 12 12,636
O=F2tXl 5,000& x 182+ 122 1,080
o7d g=2= M 10,0002 *300% 3,000
2 5234l 1,000 250 750
OB AW =X2e] 50,0002 *207K 1,000
Hs FAed &4 796,584 671,783 124,801
IHRE FA RX12 586,254 474,528 11,726
201 fet= 3| 497,700 379,166 118,534
01 AtR2tc|HI 105,830 66,909 38,921
OFA SLAHIAAE =22
380,000 * 122 4,560
O&=J| eX= 40,0002 »0CH* 123 4,320
O3J1838J| Sxt=z
35,0008 +3CH* 12 1,260
oYU === 58,400
O&Jetaze] a =2
870,000 122 10,440
OAagotdae] U =28
468,000 x10& 4,680
OAZANE Hs, 88 ==&
2,375,000 22 4,750
Osd)| RA2ACIE =2
225,000& 122 2,700
OsZIl FIIZA =2
150,0002 %12 150
OFANLES =2 1258%3, 447 M +83] 3,447
OZZLHY tIS A &9 ==&
1257 %3, 447 M x262] 11,203
OHMIBBAIZS(FA) BIIBY =28
4,410,000 22 8,820




2A:

B F0I0kE REed
ool S BARY X4 (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ooleg AN 248
150,0002 %12 150
O+=R B2l +48
190,000& x2=+ 123 4,560
OR4ZE Ba 448
10,0002 x180E 22 3,600
OZAIDIA HIIZA =25
400,000 12 400
OFSE HA +2(2H0E)
3,500,000& %12 3,500
octd eIkt NFSSEH| 920
O&J| 90,0008 %12 0
Oagt 200,000 %13 200
OsZJl 20,0002 *12] 20
OJtA 300,000& %12 300
OJIHA 310,000& %12 310
OMET A JIHEH ds8d &9
17,800,000& 17,800
OMET FAF HIUHAI &EH A
16,000,000 16,000
oLuERE 2F 100,000 +4Z 400
OMBIAEE ASHa BI 228
660,000 23] 1,320
OMEIAZE AUZI| E STEE 242
850,000 12 850
02 s3=gHl 391,870 312,257 79,613
0Z232= 2 MAl 235,453
(OFSPIESE=) 10,080,000& «12& 120,960
Odotees=s 3,340,000& «12& 40,080
(OPJEatod=) 5,950,000& x 12& 71,400
OuERERY= 5002 10,446 M x50% 2,612
OAgt&E 2] 53,0002 %12 53
O&JIPI=Eal 200,000 12 200
OZADIAHAEE S (1H2AH)
25,0002 %12 25
OJIA€81A4 galdl
123,0002 %12 123
OA&EtHIs Xl 156,417
OFA 22 |XBI(EZX)
5,020 %17 ,622m 88,463
O&JIANE FAl2cl
259,089 x2H *502] 25,909
OIIAAE FR2c
210,486 x2H 503 21,049
OFAF =& 2l 2,400 %2,916m" *32] 20,99
206 M=l 30,554 25,743 4,811




2A:

ZE: FOlOE 2E2Y
cels Es FAEE xd EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
01 M=l 30,554 25,743 4,811
oA HLEE 18,906
OBBEIIN S 55
250,000&x65+ 12 15,000
oMl SHMSE
2,170 %1500+ 123 3,906
OAalListE 2223 100,000« 122 1,200
OJIHA RX BE+2Z(OtAEH S)
50,0002 *9&*33] 1,350
OxXnEdHst RRU(SER)
1,344 20 £ »150 4,032
odla £XI| RFU(ER)
1,830& %200 £ 366
ORI H - AL 22T
100,000 53 500
OFA &I, 28AIH ARE(HED| S)
50,0003 *7&* 128 4,200
401 AIEHIZL20Hb] 53,000 32,469 20,531
01 Al&HI 53,000 32,469 20,531
OFAF HLtet TISHO Ul Xl SAk
10,000,000 10,000
OAIZEOHC!I HOAIAL A ZBAk
2,000,000&+9& 18,000
OFRUAY HHIJITEE &X SAt
5,000,000& 5,000
OFA Xtfecld cIREY A
20,000,000 20,000
405 Xtk S| 5,000 37,150 A32,150
01 AL =ZF S| 5,000 37,150 A32,150
OHHEI|(9m" Z=1t) 3,000,000 *1CH 3,000
OHHEI|(9m" 0l5t) 2,000,000 *1CH 2,000
&St 3R el 210,330 197,255 13,075
201 LBr23| 135,080 135,100 A20
01 AtR222ltl 7,900 7,900 0
OYE (=<, 30) ==&
20,0002 10024 2,000
o=z cteEe 2703 *5,00004 1,350
O=83 AU &2
250,000 *2I1 2~ *53] 2,500
Otz HHY 50,0002 x53 250
O&A L Aldz2e| X} 50,000 *53 250
OXENF UNHsTEHI| 25 1,550
(@F=F 70,0003 102 A 700
osd 170,000 x5+ A 850
02 E324H| 127,180 127,200 A0
OXtsXH 22| 48,690




RA - BH SRS - LAY - BAS ofl &t A
O & SEES 43,900
-SE1 3¢ 450,000 *3CH 1,350
-SEi ¥ 600, 000-& *3CH 1,800
=N = 950,000 »2CH 1,900
-SEX S 570,000& = 1CH 570
-SEX U™ 1,000,000 *1CH 1,000
-S=xt A 750,000 6CH 4,500
-3l=i S 700,000 *1CH 700
-st=2X e 1,200,000 *1CH 1,200
-HAX(SEX AF)
920, 000-& *4CH 3,680
“HAX(SEX BE)
700,000 +8CH 5,600
-HAXE(SEX
1,200,000 * 18CH 21,600
OXIS XAl 2,500
-SEX 38 75,0003 +3CH 225
-SEi S8 250, 0003 *3CH 750
-SEX e 400,000 *2CH 800
-SEX S 100,000 »1CH 100
-SEA HE 120,000+ 1CH 120
-3l=x 48 55,0002 *6H 330
S=xt S 55,000 »1CH 55
-StSXt e 120,000 *1CH 120
OZMERY 2,290
-SE1 ¥ 90,0003 »1CH*22] 180
-SEI ¥ 90,0003 »2LH+*22] 360
-SEX SE 150,000 » 1CH*22] 300
-SEX U™ 205,000 »1CH*23] 410
-S=xt A 50,0003 #5CH*22] 500
-3l=i ¥ 90,0002 *1CH=23] 180
-3l=x e 180,000& » 1CH*22] 360
O M= (SE, SE,3E)
27,0002 «18CH~*23] 972
O SN2 (52,58, 52)
51,0002 »18CH*12] 918
(©P= SN 76,600
(OFSPIbN; 1,500,000 «1CH 1,500
O&xt 2,700,000& *3CH 8,100
Ossx 4,900,000 & =4CH 19,600
OsExt 6.,500,000& +2CH 13,000
Ozt=xt 4,300,000 *8CH 34,400
202 044l 4,750




2A:

M Z0ipE pE2Y
cels Es FAEE xd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 4,750 3,500 1,250
OLS MU= IHEXA 04| 4,750
(@F 3 30,0002 x5 * 193] 2,850
OZU 10,0002 x5 382! 1,900
405 KHaHE SH 70,500 58,655 11,845
01 Tt ESF=HI 70,500 58,655 11,845
O3 EXeg FOH(THA) 70,500
Ox¥ =Xt 45,000,000 *1CH 45,000
Ox8 I=E-H(1E)
25,500,000 *1CH 25,500
dE3 Jgtxd & 28 NE 1,019,964 879,922 140,042
Y AO WY HES 29 411,584 365,122 56,462
201 et 3| 196,104 205,642 9,538
01 At2t2l] 30,800 45,050 A14,250
O&EE 2ZEHN + 30,800
OMSI| A 553,000& x50= 27,650
LdEX 63,0003 *50= 3,150
02 S3=gHl 165,304 160,592 4,712
OXAHEHl Y AIAE SXE 142,704
OgRE FRH(5200)
4,532,000 ~12& 54,384
OgRE ZalH (207tH)
512,0008* 122 6,144
OReleIZI(21TH)
4,270,000 ~12& 51,240
OSELUFLSII(19TH)
1,000,000& «12& 12,000
OUEHIIZ tHEAD =t2I((40)
208,000 * 122 2,4%
O+% & s8s sHOIX =Al2c
1,200,000« 128 14,400
OFAZJHHAIAE
170,000« 12& 2,040
OHAIS/W AFZRXIHI (20l A) 22,600
OPCE W4l T2 ) 28,0003 *500= 14,000
OAHE el Z2 7=
440,000 x5= 2,200
OUIPCXIZI0I OI0IME T2
30,0002 *100= 3,000
ONIEEESASHIZ I (PCE)
34,0008 100= 3,400
405 AtatsE = 215,480 149,480 66,000
01 TR ESFSHI 215,480 149,480 66,000
o7& % ¥ .- HIMPEH uHl - 2= 215,480
Ol s8a R 1,400, 0002 «50CH 70,000




SN NP BN
M Z0IpE pEeY
Chelr HE3 JMEN U B8 X (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORLIH 400,0002 =40CH 16,000
OZEE (MESSY) 600, 00024 %20CH 2,000
CELILIETES] 25,000, 00024 +3CH 75,000
Ossoaea)l 7,960, 00024 #5CH 39,800
OxpIS=URE FI|D|(35)
1,340,000 »2SET 2,680
2SS4 JIBNE 2E 608,380 524,800 83,580
201 eet23| 396,280 316,936 79,344
01 AtR2t2|HI 1,000 1,000 0
OANEHAA SZTY DH2+42
200,000 *5CH 1,000
02 s3=gHl 395,280 315,936 79,344
OSALHEHE A= 204,696
O=I8284Y AIER 167,328
Tt - S(40M)
1,204,000« 112 & x 122 158,928
-GS Z(BOE)
700,000 x12| &+ 123 8,400
OHE3d AEZ 31,368
-RolelALSI(2M)
262,000 +72| 6123 22,008
-weod - S, JIE
30,0002 =262 &+ 123 9,360
OAle7 23|2EE
500,000 x12| &= 123 6,000
(O SFSE-1 NS == 4,500,000& ~12& 54,000
OYLtM3 AIZR 7,0003+82] &4+ 123 672
OCIHUIH 218 AHSE
30,0002 16| &~ 12& 5,760
OfIgYs A (23HA)
20,0003 120+ 128 240
OZESLIEHl RAl2e 129,912
OAIEE 2SS4 EH 5,245,000« 123 62,940
OdEEstWE| 2,219,000~ 128 26,628
ORI EX 360,000 122 4,320
og=gsdl 137,000& ~ 12 1,644
OArEE A S8 EHI
360,000+ 122 4,320
O E AL SEHI 500,000& * 122 6,000
OCCTvEH| 1,620,000& x12& 19,440
=5 2 SAHES AAE
269,000 x 122 3,228
OZAIE ST 50,0002 123 600
OlPHELSAIAE 66,0002 «12& 792
206 M=Hl 5,000 5,000 0




2A:

M Z0IpE pEeY
ol 323 Jigtryd & 28 XIE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 5,000 5,000 0
OH=ESUAIE A2 XM 5,000
oure #H0lIE & NE 2,500,000& *23] 5,000
401 Al HIZ S 0HYI 10,000 29,797 A19,797
01 AlZ28| 10,000 29,797 A19,797
o7& % ¥ -3 FUStd=z FH|
5,000,000& 22 10,000
405 AHAHE S 197,100 173,067 24,033
01 AL =S F = 197,100 173,067 24,033
Oo+3.9 .35 Sa& wH 187,500
OUHIAARN(HFLE)
138,000,000 1CH 138,000
OYSHERI(IPS) 49,500,000 »1CH 49,500
OHIHRE IPTEZH| 660,000 »10CH 6,600
oHIHHERE HAJ|| 600,000 «5CH 3,000
288t 23tils 29 27,924 29,1%6 N1,232
2AHE 2oM=E 2 27,924 29,1%6 A1,232
285 RS2HY | 11,424 13,026 1,602
201 2= 11,424 13,026 1,602
01 At22t2l] 11,424 13,026 21,602
OZSIMESAIEY AL L 222 WA
7,000 *500% 3,500
OdHsH S WFSTA 2E=E
120,000& %1 120
O3BAES(2SAE) =8 =42
391,000 x2H *13] 782
OSEHYI =HIE UXZ(5EEH)
29,0002 +23CH 63! 4,002
OMSAIE HHEH =558 3,020
OA=FZ20k 391,000& x2& *23] 1,564
Oxg=20k 364,000 x22 *23] 1,456
SUIMI=AIE 22l 16,500 16,130 370
201 =3 7,000 6,630 370
2 S5=2g4l 7,000 6.630 370
Oo0tele2sI|+ FAl2clt|
100,000& *708 7,000
305 =S 500 500
01 =S 500 500
OO 2SI+ SXStHaSH AIFE=S
100,000 %52 500
401 AIEHIZ SR OHYI 9,000 9,000
01 Al&HI 9,000 9,000
Ok= 0f=23717 WAl
3,000,000 +38 9,000




2A:

B3 plgts)
chel: olmeloler Ast U AlBl=Row e (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oge 29 454,563 459,19% N4,632
LAY Ao L AT 454,563 459,19% N4,632
g ussd =M 206,773 218,056 11,283
201 fer= 3| 15,223 11,556 3,667
01 At 2t 16,223 11,556 3,667
ORlEe| B BY a0t
70,0002 +62] 420
ooEe 2= & HIIAIE EXE WX
100,000 = 10H 1,000
OUL= MEH 6,000 x50 & =22 600
ougs & 2E RolE M 2,300
OsRAEAN = 72,0003 255 1,800
Oglgtel s 2 HEA S
10,000& »30% 300
OSlYe DEEY LS M
502 +4,0000H 200
OOt dg U W| 2A=E
120,000& * 102 1,200
onge=s Fg 2,915
(OF=g= 25,0003 52+ 112 A 1,375
OZ 23,0003 x5+ 112 Al 1,265
O=ZXt 5,000 x5 * 112 A 275
ouge Wsd =4I| Axz
34,000~ 1CH =122 408
oglgel Jt2I] H & &
990,000 *23 1,980
OMHUES Nz M= 200,0003*22H 4,400
206 M=l 6,660 4,110 2,550
01 MHZHI 6,660 4,110 2,550
O HEE) 10,0002 *160H 1,600
OFUUTAIL Bla48Ss
180,000 *20H 3,600
OBla SxAld =2FA =4
1,100 «100H 110
Oulgel shagt &l 1,350
OMI=II 450,000 1K 450
ObS2 M= 150,000 *2H 300
O8XX 150,000 *4H 600
301 Eet2 NS 166,390 166,390
06 A= UHAHIXIE 135,640 135,640
OXSL=U OFAlHI 68,440
OoE 4,0002 x5 »123]* 122 2,880
OXIS 4,000 x5Z *11CH»298! 65,560
O sY8UZ2I(FR & 2¢)
200,000 x11CH*12E 26,400
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SN NP BHXH D
ma: Dl 2o
Chel Dlgtgloter 243l o A= (crol: @ 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ovldlibIg: S22 MX 103
Osl=% 70,0002 *1H 70
oyt 33,000 1M 3
AH2LIH(MET SEX2 W) 15,367,499 15,051,489 316,010
el 2| 14,874,316 14,542,729 331,587
elit| 11,311,103 11,561,955 A250,852
101 @124H| 11,311,103 11,561,955 A250,852
01 &2 10,466,817 10,307,607 159,210
oJlz= 7,453,012
OJ1z2(ASH) 763,480
-42 94,424,000& 1 94,424
52 83,632,000 8 669,056
OJl==(5SH) 6,689,532
6= 4,261,000& 67 S+ 122 3,425,844
-2 3,312,000 x39F « 128 1,550,016
-82 2,268,000& x46E « 12 1,251,936
= 1,749,000 x22E « 12 461,736
(OF={GENS 1,064,263
Oolesa+< 88,962
Ssl< 4,261,000 x32& *4 1%+ 12& 67,086
-6=2l< 3,312,000 «10E %4 1%+ 12& 16,29
-2 2,268,000 x5 +4 1%+ 12& 5,580
oga+< 557,461,000& x50%*22] 557,461
O&Z+=EiHt= 132,000
255014 130,000 x53E «12& 82,680
-2040|4~25= 0] 2t
110,000 0~ 12 11,880
-15E0[a~20=2 0] e
80,0002 x 15« 122 14,400
-10=0la~15= 0] 8+
60,000 7 * 122 5,040
-5E014~10= 012
50,0002 *30H * 12& 18,000
OIE+g 105,840
-t X 40,0002 x99 ~ 128 47,520
-XM, JIEF D= 20,0003 x76E~12& 18,240
=Mt 60,0002 x390F « 122 28,080
AU KHA 100,000& «10E =122 12,000
O=0I58+& 1,500,000 x10E* 122 180,000
OS+22+g 82,128
OoRlg2e+¢ 3,480
=35 50,0002 x1& 123 600
-85 40,0002 x6&* 122 2,880




SN NP XD
I BHSEAY|(MET BZXAD)
Eel: el 2| (ol ® )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OosAFETE 100,000 32+ 123 3,600
OS=g=+g 75,048
Jled2=g 22,680
-Jl2d2R(53014)
50,000 x2&* 122 1,200
I=d2(6~72)
30,0002 x39H *12& 14,040
Jlzg=R(8=018t)
20,0002 +31H* 122 7,440
AT =P 16,920
NHASIHNSOISHE,IIA
30,0002 +37E~12& 13,320
NHASIHS (MDA
20,0003 x15%~12& 3,600
g 250,0003 1«12 3,000
-SAfsg 32,448
Qe
50,0003 «12H*12& 7,200
A SX SR+
70,0002 x22H 122 18,480
ARISXHSR Jtats
30,0003 x12F~12& 4,320
AlZHER R 2,448,000 2,448
odld=2e=+< 8,000& 1002 +32 2,400
O=uUZR=+E 697,184
OAlRAZ 2+
11,1302 #1742 %30A| 2+ 123 697,184
OF A ZAH| 140,000 x 1832 * 12 307,440
OE &=l
6,689,532, 000& *1/12x60%+22] 668,954
O II2 4| 191,436
OcdSH
763,480,000 * 1/12+78%+86%+ 1/30+ 112 15,649
Oz =Hl
6,689,532,000& *1/12+86%+1/30% 11& 175,787
02 JIEtAE = 509,409 511,015 1,606
OFAZE 222,107
OJ123(154 01eh) 60,547
288 2,559,300 «1H* 122 30,712
-nas 2,486, 2008« 1H* 123 29,835
OJ12=(234014 3pE0I8) 94,092
0= 3,970,600 «1&*12& 47,648
2s= 3,870,300« 1&~12& 46,444
O=g 16,232
-AlZtel2ReE
11,2723 x4 x30A1 2+ 123 16,232




SN NP XD
. AY2IIH(MEF HEHAAD)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
odg2=+¢ 154,639,000 *1/12+50%+23 12,887
Od2=gitita 4,560
-25H01& 130,000 x2& * 122 3,120
-10&01& 15018t
60,000& x2& * 122 1,440
OJE+E 3,360
BN} 40,0002 x4 «122 1,920
LU PE 20,0008 x 18 x 122 240
—=M XA 60,0002 x1& * 122 720
-J|Et 20,0002 =2 * 122 480
OL=N+E(£2)
30,0002 x1& 122 360
OF A S A 140,000 x4 x 122 6,720
OEEFOHI
154,639,000 *1/12+60%*23] 15,464
O%Jt2 &l
154,639, 0002 +86%+1/12%1/30% 11 4,064
ONEEE JIARE=
218,286,000 *1.75% 3,821
OAIZMEERZIIAI 287,302
OoJleEs 235,421
92 & EH(3BA12E)
38,437, 0002 *35/40A1 2++7H 235,421
OAlt2I22+E
9, 1602 x7&+30AI 2+ 123 23,084
OJ&E=g 2,640
BN} 40,0003 =2+ 123 960
-JIERHEE 20,0002 x2& 123 480
SR KHA 100,000 x1&* 122 1,200
OF A ZAMH| 140,000& 7= 123 11,760
Oc 2 &l
235,427,000 +84%+80%+1/12+1/210A1 2+ 140A1 2t
9,449
ONEEE JI2RY=
282,360,0002 *1.75% 4,942
03 SRA(RIH )22+ 334,877 743,333 A\408,45
OF A2 124,616
OJlzs(ta) 86,297
-15= Xt 2,617,403 x1x12& 31,410
=P 2,306,350« 1H* 123 21,677
RPN 2,267,460 18128 27,210
(OES 25,682
ETE 480
B <= Xt 40,0002 x1&x 122 480
-A¥ZE=d 12,246




SN NP XD
Hu: SYSAAU (N HHXAD
SERRIEESS(T CERL
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
155 At 18,4302 +20AI 2H+1H* 123 4,424
7TAXt 16,4202 x20A| 2H+1H* 123 3,941
6 Xt 16, 1702 +20A1 2t 1H+ 123 3,881
258 4,316
- 159 Xt 130,870& 1« 123 1,571
=PN 115,310 x 12 * 122 1,384
- 63 Xt 113,370 x1&x 122 1,361
-§AH A 140,0002 ~3g~ 122 5,040
-dedeg 50,0002 38 » 122 1,800
S (AMSE)
50,0002 3 * 12 1,800
OHIHE M| 5,444
-15& Xt 98,320 18 »20 1,967
A=PN; 87,6003 18 »20 1,752
-6E Xt 86,2402 x1& 202 1,725
Og &SIl 7,193
-15E Xt 2,617, 4202 x50%+ 1 H 22| 2,618
A=PN; 2,306, 3502 x50+ 1 <22 2,307
R=PN; 2,267,460 x50 1 Z*22] 2,268
OZ A 53,449
OPL==1{0/=) 36,636
-17&xt 3,052,402« 1H« 122 36,636
O=g 11,492
EE 1,680
B <= Xt 40,0002 x1&x 122 480
P PUE 20,0002 x1&8 122 240
- SMAHA 60,0002 x 18 * 122 720
JIEt 20,0003 x1&8 122 240
-HdI2esg 5,100
17 21,2502 «20AI 2+ 18123 5,100
e N 1,832
17Xt 152,6403 x 1+ 123 1,832
-gHZAH| 140,000 x1&* 122 1,680
=g 50,0008 x1&* 12 600
S (AEsE)
50,0002 x1& x 122 600
OSJt2 &l 2,268
-7t 113,360 x 1 & *20 2,268
Og &SIl 3,053
-17& Xt 3,052, 9402 x50+ 1H 22| 3,083
Oxcl2x¥ 115,163
OJl=s(ta) 78,940
AP 2,306,350« 1H* 122 27,677




SN MBI HFX R
H: HHSAAH|(MET? XD
el ol (e mel
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
ERN] 2,267, 4602124 x 122 27,210
SASPY 2,004, 3408 <124+ 122 24,053
O%g 24,689
OiEay 2,160
HH SR 40,0002/ %32 » 128 1,440
SRS 60,0002 +124 128 720
—oigazay 11,144
7Rt 16, 42021 +20AI 2bx 12+ 122 3,941
GEPS 16, 1702 +20AI 2b» 12+ 122 3,881
2%t 13, 8402 5201 2+ 1 x 122 3,322
249 2,745
7Rt 15,3108 <12 x 122 1,384
NOEPS 13,3702 124+ 122 1,361
- HZAIY 140,0002 3% » 122 5,040
-H4y 50,0002 %324 » 128 1,800
SSANSLE(ABLY)
50,0002 +3 122 1,800
OS1oH Al 4,954
TR} 87,6002 *125202 1,752
-6 %t 86,2402 %125202 1,725
2%t 73,8402 199 %20 1,477
OYEE It 6,580
“7Axt 2,306, 350! +50%+ 12423 2,307
-6t Xt 2,267, 460 +50%+ 12423 2,268
2%t 2,004, 402! +50%+ 12423 2,006
OHINRH 41,649
OJI=22(U2) 28,608
-9t X} 2,383,9208 <14+ 12 28,608
O+g 8,852
OlELY 480
JIEk 20,0008 +2 * 128 480
oYLy 4,061
9 Xt 16,9202 5201 212 x 122 4,061
—azAg 1,431
9 f 119, 1902124+ 122 1,431
~H US| 14,0002 %124 » 122 1,680
=R 50,0002 %124 128 600
-CHelag 50,0002 +124 128 600
Ot Al 1,806
-9 90,2402 %124 5202 1,806
OYEEIHH| 2,384
9E Xt 2,383, 9202 #50%+ 12 x23| 2,384




SN NP XD
. AY2IIH(MEF HEHAAD)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Fals] 392,273 370,418 21,855
204 X 392,273 370,418 21,855
2 As= 392,273 370,418 21,855
©4= 400,000 «1H*12& 4,800
O5=z 250,000 «8H * 12& 24,000
O6= 175,000 x67 &+ 128 140,700
ora 165,000 x390E « 12& 77,220
0895 165,000 68 « 122 126,480
OFAZE 7,680
OBAt 165,000 x2& * 122 3,960
Oo=3 185,000 2~ 122 3,720
OAIZIEEIHADIN (924 E)
135,625 7 * 122 11,393
=E={UrS 3,170,940 2,600,867 570,073
303 Z&a=s 1,310,208 1,268,361 41,847
02 d1ltat0is 1,310,208 1,268,361 41,847
oggHA 1,294,024
O6= 502,238,600 502,239
org 306, 163,720 306, 164
O8= 297,829,600 297,830
O9= 187,790,460 187,791
ozzzz 16,183,760 16,184
WM HsFEE=S 1,860,732 1,332,506 528,226
02 =0H2ESE= 837,864 990,037 A152,173
OAdLEE J|IARE= 746,293
Oggry 20,879,725,0002 *3.495% 729,747
OJIEHA 473,410,000& *3.495% 16,546
ORLEE J|I&F53 91,571
Oggty 729,747 ,000&%12.27% 89,540
OJIEHA 16,546,0002 12.27% 2,031
04 SR (RIHA)22N BE=RES S 1,022,868 126,929 895,939
ONEEE JI2RY=
5,126,857,000& *1.75% 89,720
OLEE JI2RE=
5,126,857,000& * 1% 51,269
O=2d=z J2ARgs, SUALEES I
225= 431,879,000 431,879
o332 gAH3(8Y)
450,000,000 450,000
&l 493,183 508,760 A15,577
JI23Hl 493,183 508,760 A15,577
201 & 190,572 191,187 A615
01 AFR 184,110 184,725 A615




SM R AR
T BHSAAH|(NBT BIXHD)
=l Jl=3H| (Cte: M
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OL=x+¢ 144,300
O=3 60,0002 5% *365& 109,500
ogn 60,0002 x5 *116 34,800
OJ|=gdRdAH| 500,000& »26H 13,000
O3I(0IEZ)
8,000&x30H x8& x 123 23,040
O32A(RI1AH) L= 1,680
OFAM2ACE 225
90,0002 *3E*x2E5+*13] 540
OxolPxe 2o=
90,0003 x3&*x25+12] 540
OYYA 2o
90,0002 x12H*25+13] 180
Oetd st 60,0002 x7H*15+13] 420
OIR T (24) 250,000 *27H 500
OB T NEHI(ZAA, X0, 6EFAHA)
50,0003 *37H 2-+82 1,200
Ogzal § Haus 7Y 390
(@ [P Es=1=4 100,000 30K A 300
ORIIEIXIA 30,0002 #3942 0
2 35244l 6,462 6,462 0
oRER=s 6,462
Ooget 4003 x565+ 12 2,712
OSJI 2,500« 1255+ 1228 3,750
202 04| 25,200 25,200
01 =LHOHI 25,200 25,200
O=Uoibl(O1=34l)
20,0003 x21H 52«12 25,200
203 HR=H] 41,230 41,230
01 J|2=2gege=a] 26,400 26,400
OJ|EH(Let7) 26,400,000& 26,400
02 3t RS &| 9,550 9,550 0
OJI=H 9,550
O1008 015t 40,0002 100 4,000
O1008 =1t 30,0002 »185H 5,550
M EA2ER=A 5,280 5,280 0
OJIEN 5,280
O302!0lct 400,0002 * 12& 4,800
O30 =1t 5,0002 8+ 12 480
204 MPo=AH| 154,200 154,200
01 MG A=A 14,400 14,400
OXHMZY R =AY 14,400
O4s7128 400,0003x 1 *12& 4,800
Oss2x)|2 100,000 ~8& *12& 9,600




SA: NP BIXAD
Hu: BYSAAH|(MBT BRI

el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

03 S R3] 139,800 139,800 0
onLst(SsE+8S) 111,000
O6=0lat 50,0002 x174H«12& 104,400
OFrZE 50,0002 x4 x 122 2,400
OAIZH I 50,0002 +7 2 x 122 4,200

OHSEE (M=)

100,000& x24EH « 12 28,800

307 elzto| & 80,581 79,983 598

07 d=kls=s 80,581 79,983 598
O32& Moi2d 80,581
OMiFx= 5,390,000 *3.98H*12] 21,021
OArZ =212 3,503,500« 17 59,560

405 AHaHE = 1,400 16,960 15,560

01 TR ESF SHI 1,400 16,960 15,560
OMNREATH(2EIXE) 500,000 1K 500
(OIS XIPN; 150,000 6 H 900




g 8 A A

SE F= UAYE
DIRBE A A P )
8 . C9l(3) - KIRAY - BSS Ol &t A 2
ni; 1,917,076 1,549,419 367,657
= 80,473
Al 1,836,603
= QY 28 117,379 97,862 19,517
= 80,473
Al 36,906
AAHMEIA S 66,052 59,483 6,569
= 29,146
Al 36,906
HEE CIRA 2 24,464 17,615 6,849
201 22 2,464 3,415 2951
01 AFS2t2ltl 2,464 3,415 2051
oORlgA sATH|(32 7Y )
50,0002 7 &+23] 700
)| gXz 45,0002 *1CH+ 123 540
S)IFEI| Xtz
42,0003 *1CH+ 123 504
== el 60,0002 = 1CH*12& 720
=Ll L] 22,000 14,200 7,800
01 Al&Hl 22,000 14,200 7,800
o0& BEFANS2 228d
22,000,000 22,000
IHOEE BIAX 12,442 11,290 1,152
201 2| 11,442 10,690 752
01 AFS2teltl 10,458 9,590 868
oYR =& 7,448
OSAHEXI (M) 21,0002 102 A+ 128 2,520
oglzggag X 80,0003 »32 A 240
O=xpsEs== EX
28,0003 48 A 112
OXZelH &Y 220,000 »2CH*4=2] 1,760
O=AMII El 260,000 »2CH*43] 2,080
OHA ElH 70,0002 »2CH*43] 560
Oelsdl 43 22,0002 *8IH 176
OReIcIALZI| 2,010
ORololggdg g1 54,000 32 A 162
ORoIIALZI| EH
330,000 *4HK 1,320
OEEy 132,000 *4 K 528
OAXZAES HA
100,000 x5 23] 1,000
02 222l 984 0 984
Od¢EEHl SXldl 984
@I 2,300,0002 *1CH+8% 184




2N MEF SIRAKXIH D
M DAY LSS o NFM 78
CH9l: AIDIDIS QIRIBEAHIA T (crel: g)
SN - B S(BH) - HBAY - BAS 0 &y e HIRS2
OFEX= A 5,500, 000& *1CH*8% 440
OMIHI| S 35 1,500,000 *3CH*8% 360
303 EA= 1,000 600 400
01 ZA2 1,000 600 400
OUBHSE 24Tt AN
500,000& *23| 1,000
oA |22y 29,146 30,578 N 1,432
= 29,146
101 214b| 22,998 22,525 473
= 22,998
03 SR (RIAHY) 22X E> 22,998 22,525 473
ONWZTRIAAR 22,998
@PI=={{v =) 15,160
-18 Xt 2,733, 7102 x 1 2& 5,468
= 5,468
-14AXt 2,578,200 x 1 2& 5,157
= 5,157
64 Xt 2,267,460 x1Hx22 4,535
= 4,535
o= 4,047
OiEay 240
b < Xt 40,0003 *1H+2& 80
= 80
JES 80,000 *1H+2& 160
= 160
=25 759
18 Xt 136,680 * 12 274
= 274
14E Xt 128,910 * 1 +2& 258
= 258
6 Xt 113,370 x 1Y =2 & 227
= 227
~HHZ A 140,000 x3H 2 & 840
= 840
-y 50,000 x3x2& 300
= 300
—Saxes 50,0002 3% 22! 300
= 300
-2t 2R+ 1,608
18 Xt 12,790 *150%* 15 A| 2t+23 576
= 576
144 Xt 12, 1202 *150%* 15 A| 2t+23 546
= 546




SH: HET KR
M Zd) =S = QURYEE F2E
TP ARIDHE DIRISEAHIA P (12l M2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 6E Xt 10,7803 *150%+ 15A1 2++2& 486
= 486
OYE IOt 3,791
—-18EXt 2,733, 7102 +50%+1H *13] 1,367
= 1,367
-14EXt 2,578, 290 x50+ 1H * 13l 1,290
= 1,290
=P 2,267,460 *50%*1H *13] 1,134
= 1,134
201 B2 AY| 6,083 7,933 A1,845
= 6,088
01 AtR2elt] 6,088 7,933 1,845
ONHAHALR =& 6,088
OHtiYsEE =5 N
4903 *1,2009H4 588
= 588
OWALSAE ML HZ
4,400 +6000H 2,640
= 2,640
Oomgy &Y MNRES
2,859,500& 2,860
= 2,860
202 bl 60 120 AB0
= 60
01 =2LHO4 ] 60 120 AB0
OWALRFA o]
10,0003 *1H 1L +6E 60
= 60
AlE=5H0 ZES JIERHSE 29 51,327 38,379 12,948
= 51,327
NE2HSEAR NJAAS 51,327 38,379 12,948
= 51,327
201 L2 AY| 51,327 15,378 35,949
= 51,327
01 A=R2teld| 51,327 15,378 35,949
OINEFZLHSESLRFA Lt=2H|(PH)
45,018,000& 45,018
= 45,018
OIIEFZLHSSYRFA Lit=2H|(L0|H)
3,602,000& 3,602
= 3,602
O EZHSELRFA Ubx2H(BEEH)
2,707,000& 2,707
= 2,707




A MES URAXH L
I et NFE NBAMHIA WS
ool DES EXBIIY SSMAZO| SN &Y (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
etet 13E NEAMHIA WS 1,609,100 1,267,024 342,076
ST EXNEIIL FSUAES FEL 22 64,927 67,414 N2,487
ZEtet HESAIXIIE A 62,827 65,314 N2,487
101 21A4H| 13,573 17,140 A3,567
04 JIZtN2Z2 XS 2+ 13,573 17,140 A3,567
OMESAIXIIE R JIZtHZ22 X Q12 12,206
OJlZ=s 76,9603 x 1B 26U +6E 12,006
O &SIl 200,000& 112 200
O4lHEE JI2RE23 1,367
Oo=egs 12,206,000 +4. 5% 550
OH3EE 12,206,000 *3.495% 427
OFIIRYEE 427 ,0003%12.27% 53
OunE:es 12,206,0002 *1.75% 214
O4t=Es 12,206,000 * 1% 123
201 fer=3| 49,254 48,174 1,080
01 AtR2t2|HI 34,054 33,774 280
OXMEZ BIQIL S MRES
1,950,000 1,950
OHESAIXIL €5 SN2 M
1402 *38,0000H 5,320
QIHESAIXIOL XotatE SHETH M
17,0002 %1, 1000K 18,700
OMNESAIXIL 2 S48 I 2HE 3,624
Osl+=9 70,0002 *12)H*42] 3,360
Oogztat 33,0003 #2I1*43] 264
OFAHEEHE &3 FH|
10,0002 x300& 3,000
OZgld EUW(Zd) 330,000 x2H 660
O=HE 25 A0) 20,0002 *40H 800
2 35234l 15,200 14,400 800
ORERI(LE 40021+38,000S 15,200
PS4 HHEAM =E 2,100 2,100
201 ZBt=Ehl 600 600
01 AtR2t2|HI 600 600
O=S4t Heldl DM R0l
2,000& x50 200
OR St QAMIA 72
2,000 x50 200
ORSt ML 2L R2= A
1,000 *200% 200
301 EtE NS 1,500 1,500
14 J|EtE2aS 1,500 1,500
O=Y SHYA &1 o=
500,000& 124 500




DEE NEAHIA WS
EXNEIIZ FSEAES £EE

o
T

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORS&AHAIEE AR Ba=
1,000,000& %124 1,000
J=tet NHEE MS 71,623 75,010 A\3,387
NEE=E I 71,623 69,730 1,893
101 21A4H| 13,573 13,580 a4
04 JIZtN2Z2 XS 13,573 13,580 AT
OXNH=SII =L MEAL JI2ERHIZ 2 2
e 12,206
OJlZ=s 76,9603 x 1B +26 L +6E 12,006
OgESIt| 200,000 x 1213 200
OC4lEE JI2RE23 1,367
Oo=ags 12,206,000 +4. 5% 550
(@Fak-t= 12,206,000 *3.495% 427
OFIIRYEE 427 ,000&%12.27% 53
OunE=H 12,206,0002 *1.75% 214
O4t=Es 12,206,000 * 1% 123
201 et 3| 58,050 56,150 1,900
01 AlR22IH| 58,050 56, 150 1,900
OXNEIIES 87 Y2442
180,000 *300& 54,000
OXHUA HR=X 4,050
OXNHUANMEAN KN
10,0003 55202 1,000
OEXIOISZ2AM Hield
10,0002 *50H 500
O=gdtl &84 350,000 «1CH 350
OFgZ U bteld 40,0002 *307K 1,200
OXHs=F &5 SA
25,0003 402 A 1,000
2ot EXNEE MsS fgt Jlgt 2= 1,472,550 1,124,600 347,950
HTHZAAG =& 1,472,550 1,124,600 347,950
201 2= 37,550 44,600 AT7,050
01 At22telt] 36,950 44,000 AT7,050
OXHTHTAAIY EZ 17,150
OXFMEA JIFED &
90,0003 %1358 12,150
OXHMEAL E2=2 M
5,000 *1,0000H 5,000
OXNEMEAL =82 &8 JEEI ===
50,0003 x 1502 X[ x27| 2t 15,000
OXATHEA A2t A3 HA = 4,800
OZAHZERHS 100,000 x6 & *4=| 2,400
OXIETHEALRI RS
100,000 6 *43] 2,400
02 S5=24g4l 600 600 0




2A:

BIRX =t

e
mm: mas DEE NXALA M2
el et EXEE MsS et Jlgt 25 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHtEE Z2HtY IO StR=s
30,0003~ 122 360
OAd=gdHl 2ot HIOIH Stles
20,0002~ 122 240
301 22N = 1,435,000 1,080,000 365,000
14 JIEt2 8= 1,435,000 1,080,000 365,000
OXNETHEA 2EZ 1,435,000
Odst - =X+ NEMEAN 283
385,000,000 385,000
O&d - F&X7 NEMEAN =83
1,050,000,000& 1,050,000
AH2LIHI(MEAT X H D) 190,597 184,533 6,064
el 2| 105,521 103,276 2,245
ks 105,521 103,276 2,245
101 @124H| 105,521 103,276 2,245
03 SRH(RINHA) 222+ 105,521 103,276 2,245
ONAHUAAHS 105,521
OJl=s(ts) 75,7%
-18E Xt 2,733, 7102 x1&* 102 27,338
-14= Xt 2,578,200« 1&*10& 25,783
RPN 2,267,460« 1H*10& 22,675
Oo=¢ 20,222
-ESE 1,200
HH < Xt 40,0002 x1&*102 400
JIERIE 80,0002 x1&*10& 800
2&g 3,791
18 Xt 136,680 x 12+ 102 1,367
14= Xt 128,910 x1&+ 102 1,290
6E Xt 13,3703 12 =103 1,134
-SHSAH| 140,000 x32* 10 4,200
=g 50,0002 x3& 102 1,500
S+ifsd 50,0002 *x38 102 1,500
-AIRI 225 8,031
18 At 12,7903 % 150%* 15A1 2t 10 2,878
14X} 12,1202 *150%* 15A1 2% 102 2,721
S=bY, 10,780 *150%=* 15A1 2t + 102 2,426
Og&E=otdl 3,791
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0JIEH| 20,0002 x222 52 x 128 26,400
208 A2 EZH| 4,200 4,200
R EEEEE ST 4,200 4,200
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405 TS| 3,460 9,350 5,890
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OATH12E) 500, 00021l 500
OZ4IH3E) 800,000 *20H 1,600
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LI EFIASE FIEX
1,100 *3,0000HK 3,300
OBMNAINBEXTY FXEX 2EE S
at 50& 6,000 300
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OY0|H =222 22 22 600
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OY0lH Uid1el =% 23 2,700
[@1;]10;Fal 1,500,000 *1CH 1,500
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oRss ER Z2E =58
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ottgds B FE2Y =8

@) 1,200,000 *1CH
ottds 49 Z2E =8
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ottgds SNHEOHIE B2 =3

oollo=A 1,500,000 *1CH
Ottgs AHHHECIHLOIE B2E =25
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2,700
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300
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1,500
1,200
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o 1,200,000 *1CH
OFEEs 2YF33-10HLE 22 =5

Oodan 1,500,000 *1CH
OREE ZYUFS420HUIE 22Y S5

o 1,200,000 *1CH
OFgEs 2YFI6HAOHIE B2 =5

O&IIYeE 300,000 *1CH
OEE=E F20HIE 22 =25

O2tAdgelX 300,000 *1CH
ozgs 018 Z2€ =8

oolloizt 1,500,000 *1CH
oz8s Zd 324 =3

ool =4 1,500,000 *1CH
o313 Bt5 22E =8

ow 1,200,000 *1CH

OJtAdetkl 300,000 *1CH

O&IIYeE 300,000 *1CH

=218 HEIXOHLE B2Y =5

o 1,200,000 *1CH
O+==15 g4 =24 =3

@) 1,200,000 *1CH

O2tAdelX 300, 0003 »1CH

O&IIYeE 300,000 *1CH
O+==18 MEFEIHXOHIE 2 =23

ool 1,500,000 *1CH

o 1,200,000 *1CH

O2tAgelX 300, 0003 »1CH

=218 HE2XO0HLE B2Y =5
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=21 NE2KI0HLHE B2Y =8
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2SS AEFSIHXOHIHE d=2Y 22
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o225 FEN H2Y =5

OFSPIN= 300,000 *1CH

+==2& SHOIS2XI0IIE 22Y =23
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oo 1,500, 0002 2CH 3,000
OdabiI=8gs dat=2HAIOEXIOHTE
429 =23 1,500
oo 1,500,000 *1CH 1,500
OdabiaI=ES I BFS4RN0HLE 32
=3 300
OodJlgeE 300,000 *1CH 300
Odabltl=Es SAUHI2RI0HILE 2
=3 1,800
oo 1,500,000 *1CH 1,500
OdJIgeE 300,000 1CH 300
OEHN=ES HAFSIXNOHHE BZE
== 300
O2tAgelX 300,000 1CH 300
OdabiaI=ES JIBF33XI0HIE H2g
=3 300
OItAgIeIX 300,000 1CH 300
OEsIN=ES &2A2XI0HIHE A28 =
= 1,200
o 1,200,000 = 1CH 1,200
OEIINAI=ES detsHAOMEXIOHIIE
d2g =23 1,800
ool 1,500,000 *1CH 1,500
O&IIYeE 300,000 *1CH 300
OHINI=ES ettt Mo E H2E
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OodJlgeE 300,000 *1CH 300
2F9 534 Y3t & ots=X g 1,707,370 1,957,270 A\249,900
ZHE ESAIY DB LS 850 1,270 A420
Oelold 38 & SAL Us 850 1,270 A420
201 Ler=23| 850 1,270 A420
01 At2teltl 850 1,270 AN420
OESAIE 28 & SAHL Us 850
Ou=uTH 6,000 * 130 780
O+ 70,0002 *1H 70
222 Nl & 334 dat 1,706,520 1,956,000 A\249,480
AMIE 22 X 900,000 1,080,000 180,000
301 EtE NS 900,000 1,080,000 180,000
03 ALl 2 & A 263 (XL E) 900,000 0 900,000
OXMOle At Ots=Hl A&
150,000 x500& * 122 900,000
Oelold Ots2taidl XI&A 806,520 823,680 A17,160
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201 er2 3| 59,968 58,110 1,858
01 Al 22| 32,968 31,110 1,858
CREEERS-TE] 500, 00024 +262 13,000
OJIEZHI(22)
8,000& x26Hx8L « 12 19,968
2 352484l 27,000 27,000 0
oRER=s 24,600
ogegt 4002%2,0005+12& 9,600
OSII 2,500 5005+ 122 15,000
OSEFEUE MSZ(AEI=XA)
50,000 *4LH* 122 2,400
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MU FAZSLIFAI 4,800 4,800
©J1E2H(302!1015t) 400,000 12& 4,800
405 AtatE = 8,300 8,300
01 Tt =S F=SH 8,300 8,300
OAMR S 8,300
o2k 500,000 1K 500
Oa2NE 300, 0002 *26H 7,800
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OLED SI1+ 700 420,000 <604 25,200
OLED SI1+ 1500 600, 0003 *20H 12,000
401 AIZHIX R0HH 362,520 302,160 50,360
01 AlZH| 360,000 300,000 50,000
OIIZ222ts R+ 350,000,000 360,000
03 Al 20HHI 2,520 2,160 360
Oz2Ets R
350,000,000 *0.72% 2,520
NSO EeFAS 26,287 39,430 13,143
201 er23 | 26,287 39,430 213,143
2 35234l 26,287 39,430 A13,143
ORUNZLEDIIZE WHMAY HHISX A8
= 3,285,8102+8& 26,287
NS Dgeds s TADIgxd 8,351,211 5,298,812 3,052,399
= 392,000
=S 450,000
Al 7,509,211
CE12n012te SAIHEEZ S 753,275 336,510 416,765
S2IIPAE &#F X 29,855 28,090 1,765
201 =3 29,855 28,090 1,765
01 At22t2l] 24,270 24,060 210
OFX Xtz (AMES 280-281X1 2 12X)
600,000& * 122 7,200
OZAAHELH HHIH 4225 3,720
O=ALEX 21,0003 58 Ax 123 1,260
OXZegH &4 210,000 8 H 1,680
og3a 70,0002 *1CH*43] 280
OZd 100, 0002 *5H 500
Ofedle, =288 SETAL X AEEH
S Itg gt 920,000 «1CH*12& 11,040
OEXNEEHE 25y # S)I+=8 2,310
OFg+=+& 260,000 x72 X| 1,820
O3+=+& 70,0002 ~7& X 490
2 s5=34l 5,585 4,030 1,555
Oxtg= =l 1,980 % 12240 5,585
N E2HYEX 2 108,420 108,420 0
401 AlZHIZ SO 108,420 108,420
01 A28l 108,420 108,420
OJl £2 HYENEY 108,420




2A:

N7 21Dt

ZE: N RULTE S EADISES
o9l LZ1on0|0ke] SANEER A (Shol: &2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OE X HJH| 100,000, 0002 100,000
Az 8,420
~SOl0l®Aa42 70,0002 * 102 X| 700
—eEEYyLLD 344, 00021452 X 1,720
2B LR
200,000 x20H 7| 2t 152 X| 6,000
Hals SAHEC2(43-1019) HE 200,000 200,000
401 Al HIX S0 200,000 200,000
01 AlZH| 198,600 198,600
O3 A (L=170m, B=6.0m) 198,600,000 198,600
03 AlESTHYI 1,400 1,400 0
OAl& I 1,400,000& 1,400
Hae| SAIHEE2(A3-97) W& 400,000 0 400,000
401 AlEHIZ SO 400,000 400,000
01 Al&H| 397,200 397,200
OB A1 (L=150m B=6m) 397,200,000 397,200
03 A2 THYI 2,800 0 2,800
OAIZ20HHI 2,800,000& 2,800
S SUHFHH JAE2 LAY 15,000 15,000
401 Al HIZ S 0HYI 15,000 15,000
01 AlZ2H| 15,000 15,000
O& AIEAHI 15,000,000& 15,000
C2ae 7,111,936 4,624,302 2,487,634
< 450,000
Al 6,661,936
SAHEEZ HHIAY 360,000 0 360,000
= 350,000
401 Al HIZ S 0HbI 350,000 0 350,000
== 350,000
01 Al&H| 350,000 0 350,000
+=2S 100K LR T2HE ZAHAH4,200
m) 150,000,000 150,000
=S 150,000
OAIZ2ES OiM=Z L0 ==EA WF (L=500m)
100,000,000 100,000
= 100,000
OMES HFECIMHHUSS(ZMAAZSE!) T
AXI A (L=140m, B=0.6m) 100,000,000 100,000
= 100,000
C23H & |A2+ 2,532,430 2,157,385 375,045
101 @124H| 3,254 3,116 138
M IRINZZ2NSE 3,254 3,116 138
OWSE LA 3,2%4




2A:
X XH -
o e

(= -

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
ool 82,1002 2 *3 1 CH*6IH A 2,956
OZ2HAlH| 3,000 #22 +3Z#23| x6H A 216
O4UEE J|122g= 82
-1E2E 2,956,000& *1.75% 52
—ATHEE 2,956,000& *1% 30
201 2| 77,478 75,656 1,822
01 Ar2eltl 41,163 41,085 78
O3S Matze] 9,175
O=gsds2 344,000 102 X 3,440
OZAEHE+2 56,0002 102 X 5,260
OZ3sMet2e] FOEXE ME
47,5003 * 1004 475
O==Z2&Hl 2HE 223 1,650
OXglH &Y 209,000 *574 1,045
OZele 23 50,3503+ 1+ 123 605
O&Hl Xtz 16,500
O=41D] 600,000 *1CH* 15 9,000
OE=ZEH 500,000 *1CH* 15 7,500
O==20I3 SE&HXIAL Y NCEHAEE 1Y
Xt 920,000& * 10+ 122 11,040
O&AZ=Z 2 (EST) YOI0IE
600,000 =34 1,800
ORK LXZ(HLS 45128 1K)
36,0003 122 432
O AdXZ2(BEH R=2| 7124HX|)
47,1603+ 123 566
02 2224l 36,315 34,571 1,744
OISt AIRA e R2H|(SR)
1,3443+30 £ *60 2,420
OZZFH| FH| f=4t| 250,000 65 1,500
O==2&d| #Hl RFHI 1,939& 200 4 388
OZ=Z 22| CCVald AFZZ
1,750,000 =123 21,000
OS=0| HEtAld ®IIR=
100,000 x40 2~ 123 4,800
OZEEZ NSEXNAIAE SRS
110,000& * 12& 1,320
O 20 HEXZAL E NEHAXNSE FF
a] 1,939 %12 ¢ 210 4,887
206 =8| 44,783 44,783
01 =l 44,783 44,783
oY Tz N 44,090
OXHTASAN=E S 45
231,000& *60H 13,860
OZHotAZ 14,0002 *1,500L 21,000




2A:

A= A4t

M NS YRS flet TADIgEE
chelr S22t EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OAlgE 5,000 »250% 1,250
Ol 23,000 »200m* 4,600
OSTH(H A 16,0003 *200m* 3,200
O=380l & 35 18,0002 * 107K 180
Okz2x YL et 2A2|E Kt 693
OZALRHY HX| &t 60,0002 *1H 60
O3AtE HA 25,0002 % 10H 250
OSAIE ctet2 13,2002 * 107K 132
(@FSPNFSE=E= 15,000 *5H 75
Oflgdus 17,600 * 107K 176
305 HHal= S 5,000 5,000
01 HHAHSS 5,000 5,000
OSRAIE ALY BHAS
500,000& *102] 5,000
401 AIEHIZ SR OHYI 2,401,915 2,028,830 373,085
01 Al 2,398,135 2,022,845 375,290
OAT U S0EE2 UINZEX 24 38,140
OEXI | 30,000,002 30,000
OAB22R 8,140
AREIRSE
200,000 20 J | 2% 102 K| 4,000
o= o= 344,000 102 X 3,440
-SI0ld =2 70,0002 *10& Xl 700
02 ¥ EZAE=E RAE= 2,300,000
OOIAEE AltE= 300,000,000& 300,000
OXe =M 50,000,000 50,000
OE: &€ FAA |XE+
50,000,000 50,000
OS2AFALE RXE4
100,000,000 100,000
O=F=RE2H M= 400,000,000& 400,000
SUENEEEENIFERENER
100,000,000& 100,000
O=Z ot EX# EH| 50,000,000& 50,000
OFF=rIN -t 1,050,000,000& 1,050,000
OsZAEUSRAES
200,000,000 200,000
OE2 & T2AEE FAEF-AY AL
Al 1,050,000,000& %3.7 1% 38,955
OB H=H s+
526,000 x40Z X| 21,040
03 Al = THHI 3,780 5,985 N2,205
OL=Z & E2ANEE RAEFAY
1,050,000, 000& *0. 36% 3,780




SN MR AED
g g Jggds fle TADIgES
ool E2ae] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FoI=JAAY 2,342,945 1,722,359 620,586
401 Al HIZL 201 2,342,945 1,722,359 620,586
01 A&l 2,334,827 1,716,401 618,426
SHE 107K LY 2 EEHIEAHL500m B3
.Om) 150,000,000& 150,000
OFgu~-dzull 23 0tAZ INRI|S
AHL=710m, B=17~24m) 490,000,000& 490,000
OZ el 149-181X 22 OtAZ RARI|SAL
(L=1,800m, B=6.5~7.0m) 440,000,000 440,000
OAIES 2384681 X L& 2 FHISAHL=1,000m
, B=2.5~4.0m) 200,000,000 200,000
OMZAS 258248 K L& T2FHHISAHL=250m,
B=11m) 100,000,000 100,000
ODIES 24X L3 OlAR IHRIISAHL=
610m, B=10~18m) 300,000,000 300,000
O=Es 14358 X 2@ 2= FHISAHL=600m, B=
3.0~4.5m) 200,000,000 200,000
OO0l &E12l oSt NS AHL=152m, &
AH(1.5x1.5) 141) 230,000,000 230,000
OAAS 138X 22 2=ZHISA
30,000,000& 30,000
Odal=s1tl 88 BE-ZHISA
20,000,000 20,000
OZEFS1HA 2 T2FAHAN & 8l
Ol wXl 15,000,000& 15,000
OATMZ FL=JANS(EH)
80,000,000 80,000
O=2U=TAI AAIE A
2,255,000,000& *3.54% 79,827
03 AlESTHYI 8,118 5,958 2,160
O=QI=3 A 2,255,000,000& %0.36% 8,118
wg A= 7Al2ed 1,786,561 744,558 1,042,003
201 =3 85,016 22,128 62,888
02 S5=24g4l 85,016 22,128 62,888
ostes 13,020
Odsat2E==F1l 45,0002 128 540
OSB3 AHAI Gt XI=2 CCTV
200,000& * 128 2,400
Odtate=2 x| 540,000 * 122 6.480
OBt X7 RIIZEAAH
300,000& * 122 3,600
oNIIR3 8,4%
Odat2E==F1l 400,000+ 123 4,800
OZZAHAI ot XI=2 CCTV
60,0002 «12& 720
Odta =& XD 48,000 122 576




SN MR AED
g g Jggds fle TADIgES
chel: S22zl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBt X7 RIFEAAE
200,000 * 122 2,400
OBYI| AHFBR| U RNBA BY 242
450,000 123 5,400
osdl| 88 === 150,000 x2JH A 300
052 EA8A =2
400,000& 123 4,800
OCCTV & AAFAAE =Xl2
20,000,000 20,000
OdtS X7 ZIIFEAAE X2kl
33,000,000 33,000
401 Al HIZL 201 1,701,545 722,430 979,115
01 Al&H| 1,695,659 718,083 977,576
oug & ANEE A2
435,000,000& 435,000
O8EW E=2LSA 700,000,000 700,000
O2slu Ex2L3A
500,000,000 500,000
oug & ANdE S| AAEAHb
1,635,000,000& %3.71% 60,659
03 A2 THYI 5,886 4,347 1,539
oug & AldE Al
1,635,000,000& *0. 36% 5,886
HESHAIZ HEAS 100,000 0 100,000
< 100,000
401 AIEHIX SO 100,000 0 100,000
= 100,000
01 Al&H| 100,000 0 100,000
OAt=22] =2 YIS AHL=100m)
38,000,000& 38,000
= 38,000
OItE22| OtAZ M LIS AHL=500m,B=3m)
35,000,000& 35,000
= 35,000
ogE2e| A=A XIS AHL=80m, B=2.0m)
27,000,000 27,000
= 27,000
e Het+S F=2X& 486,000 338,000 148,000
= 392,000
Al 94,000
IR HIEt RS =X ALY 470,000 338,000 132,000
s 376,000
Al 94,000
401 Al HIZL 01| 470,000 338,000 132,000
= 376,000
Al 94,000




2A:

X XH -
o=

29: (Erel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 466,700 335,700 131,000
OMLHE A =X A (MEEHAAY) 466,700
OAlZ MINGHAE H=Tl &XISAHL=75m)
206,700,000 206,700
[ 168,000
Al 38,700
Odte 12l s=2 ZEI3AHL=250m)
110,000,000 110,000
s 88,000
Al 22,000
OZH22] 628K LR B2 HHIBAHL=320
m) 90,000,000 90,000
[ 72,000
Al 18,000
Ol 4122] SHH42 3 HIZ AH(L=440)
60,000,000 60,000
s 48,000
Al 12,000
03 AIZ2THYI 3,300 2,300 1,000
OMNLHME T FRIX A (HEEHAAY)
3,300,000 3,300
HENIe S 2] 16,000 0 16,000
[ 16,000
201 fer23| 13,600 0 13,600
[ 13,600
01 At22t2lt] 13,600 0 13,600
OMNLHERS HHEXE S A7E24H
13,600,000 13,600
= 13,600
202 04| 2,400 0 2,400
s 2,400
01 2L AL 2,400 0 2,400
OMZHet="S 2eldl(28)
20,0002 x2H+52 * 122 2,400
[ 2,400
Mgt - MoHel M=Zg 28 1,008,704 611,912 396,792
THet - THoH o 139,788 122,35 17,432
THEE 2 THoH 22l 139,788 122,35 17,432
101 @124H| 29,584 28,225 1,359
M ORIMZZ2NSE S 29,584 28,225 1,359
O0lHEZ H& FY 26,608
ooy 83, 1503 x20H A x4 B +40 26,608
OCAUEE JI2RE=2 2,976
Oo=glg=z 26,608,000 *4.50% 1,198




2A:

A= A4t

M THY - THolel MZst 28
CH2lr T - THOH ol EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OHLEH 26,608,000 *3.495% 930
O&IIRAEH 930,000 *12.27% 115
(@NE=35)= 26,608,000 *1.75% 466
OttNHEE 26,608,000 *1.00% 267
201 LBr2| 84,204 74,131 10,073
01 ArR222lt| 420 420 0
OMt:t2el 22 s 70,0003 62| 420
02 3324l 83,784 73,711 10,073
O=olili=E ZHl =&H| 2,000
Og=D|, =TEHIZ 4H|
2,000,000& 2,000
omIIRE 1,800
Od3leeaX BHU(OIIZS)
30,0002+ 12& 360
Ottg Xl 2elAlE
100,000 12& 1,200
Osm==Xl ZelAlE 20,0002+ 128 240
Aol CH R EH| =& 21,85
Oun| |Al2el 1,000,000 *1CH 1,000
OM&E 2eHatzZ)| £=2/(10th)
1,000, 000& *10CH 10,000
OB EE =2 (500H) 100,000 *50CH 5,000
ORF4l 1,830 *20 £ 203 *8CH 5,85%
OZAELEX FXl2teldl
1,000,000 *6H 2 6,000
O+ ELTX SARB
50,0003 *3H L+ 122 1,800
OgG=AIEX MIIRSB
100,000& 61 2+ 123 7,200
OZZHME HgH SRS
100,000 122 1,200
OZZH4 HEH HIIRS
2,500,000& *5& 12,500
OZZH4 olZd MI|etM2te| |
120,000& x 123 1,440
OMAXH 2EEZ(EEH Ddlold)
200, 0002 »50CH 10,000
OEdH RFHI 100, 000 *33] *50CH 15,000
O8&EH XIGHAE CCTV Sl
83,0003 «3CH* 123 2,988
206 =8l 6,000 6,000
01 M=l 6,000 6,000
O=olHZ=E XtTH 6,000
OLcd=0L S 58 4,000,000 4,000
Oeled 200,000& * 1004 2,000




A R A
Hu: T - Wehel M2a 7

S THEE - THoH ol (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 20,000 20,000
01 Al&H| 20,000 20,000
OF Al =Al2cl 20,000,000& 20,000
ofd - Hi==AlE JHA 868,916 489,556 379,360
otd gl & =Xl 768,916 373,319 395,597
201 er=23y| 11,000 11,000 0
01 AtR2t2|HI 11,000 11,000 0
Ootd =& & =2 JHl &bl SXtz 11,000
O=247| 600,000 «1CH* 10 6,000
OgzEd 500,000& = 1CH* 10 5,000
401 AlEHIZ 01| 757,916 362,319 395,597
01 Al&H| 753,348 359,835 393,513
OotdEE =Al2el 635,000
Odtd &EH| 500,000,000 500,000
OXN= & ==HHA 120,000,000 120,000
2lchzoial= KA 15,000,000 15,000
Ot AGHA (CHE 2l 26281 K1) HHIZAL
90,000,000& 90,000
OotEEHl & RAIZACIAIE AAIEHHEI 28,348
OotddHl & |X2ACIAIE AAIEHH|
725,000,000& %3.91% 28,348
03 Al 20HHI 4,568 2,484 2,084
OctdHl & [A2 A
725,000,000& *0.63% 4,568
N&EEHl & S22 100,000 0 100,000
401 AIEHIX R0 100,000 0 100,000
01 AlZ2H| 100,000 0 100,000
ONMEEHl & =AIE2= 100,000,000& 100,000
ot 2l 576,028 683,045 A107,017
ot ¥ Xt 232 576,028 683,045 A107,017
Bi=&H| E8 & FX2cl 558,636 649,653 291,017
201 Ler=23| 1,500 0 1,500
01 At2teltl 1,500 0 1,500
220152 N2 1,500,000& 1,500
401 Al HIZ S OHbI 557,136 649,653 AG2,517
01 AlZ2H| 553,797 645,621 N91,824
Oltsot== dHl & =A2el
250,000,000 250,000
OTAS(407-2) OISot=E EXISAt
280,000,000 280,000
Obi~&H| 4l & FA2ACIAIE ZAIEH
] 530,000,000& *4.4%% 23,797

03 AIZ20HHI 3,339 4,032 2693




S T e
M i 2l
oSl Bl U KIsH: 2Ee (crel: g)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Obii==&H| Ztl ¥ ®|X2el AIZSU
530,000,000 *0.63% 3,339
Aste Alag 22l 17,39 3,392 16,000
201 Yur2 | 1,39 1,3 0
R 1,32 1,392 0
ONsl+ BXREY HIIQ2
4,000&*12& 43
OXIot BEX2AFL SRS
7,000 *16JH Ao+ 12 1,344
401 A& BIZ20HLI 16,000 32,000 A 16,000
01 Al&HI 16,000 32,000 A 16,000
OXIot BX2=0 FHO|EH
500,000 *16 0l 2 #23 16,000
HYS2IHH(MA?R HED) 424,243 407,442 16,801
ol 2| 331,845 316,440 15,405
ik ls] 331,845 316,440 15,405
101 2124 d| 331,845 312,440 19,405
03 SR (RIHL) 22X 331,845 312,440 19,405
oz 331,845
Oo¢sE00=) 190,549
294 Xt 3,667,202 x1F+ 122 44,016
-23E Xt 3,388,400 x 18+ 12& 40,661
-19E Xt 3,164,500 x1H + 12& 37,974
-18E Xt 3,108,710 x1F +12& 37,306
-84 xt 2,549,410 x 1B+ 128 30,593
o= 141,2%
-tEg 3,600
Hi 2 Xt 40,0002 +3H 122 1,440
HHES 20,0003 =2« 12& 480
M AHA 20,0003« 1F 123 240
SMAHA 60,0003 x2H 123 1,440
“UrEag 100,000 x1H*12& 1,200
—H gAY 140,000 x5 * 12 8,400
~&H=Y 50,0003 x5« 12& 3,000
2% 158,786 *5H 12 9,528
SR (KE
50,0003 x5 12& 3,000
“HE(EW)2R+Y
22,0582 x5 *30A| 2H+ 123 39,705
e e =
22,0582 *5F *16A 2t+ 122 21,176
o 2fse
33,6602 x5 H*12A] 2tx 123 24,236
-GItE4A3 116, 4643 5% x20Y 11,647




SH: AT AL
M WHSEAH|(HET L)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES A 2
| ~HE S| 1,580, 30281 52423 15,804
=2l %.3%8 91,002 1,39
L %.3%8 91,002 1,39
201 Yereely| 53,638 51,542 2,09
01 Al RF21H| 40,238 37,642 2,59
OJI=YR+HEEH (I FAHI)
500, 0002 <262 13,000
oSHIIEZH)
8,0002 <262 +82!* 122 19,968
OBL(2IIH) B
80002524110 4,400
OB (2IH) T 1,400
oxgl= 90,0002 %52 450
Ogsr= 100, 0002 %524 500
Oera 3t 60,0002 %52 300
O3 15,0002 %524 75
022 15,0002 %52 75
O=ADI £ 245,002 <6} 1,470
2 2222 13,400 13,900 500
OB (LI FAXIRY|
500, 0002 %524 2,500
oswaz 10,900
Oge 40021+8,5005 3,400
0S| 2,5002+3,0005 7,500
202 OfH| 33,600 33,600
01 ZLHOIH] 28,800 28,800
O=UoiHI(O1=28))
20,0002 +242 52 x 122 28,800
02 401 H| 4,800 4,800 0
OMAIZEXHLIIH)
200, 0008224 122 4,800
208 YLFAH| 5, 160 5. 160
04 A SHADEAY| 5,160 5,160
CplE= 5,160
0301015t 40,0002 122 4,800
O300! £t 5,0002 6%+ 122 360




H & 0l & AHS B Ml A

BET Z0IA LS| MR BIXAD ~ NP ASD

SH: R ASD
HE: AZY A4

=
ol dlele A=

AFEY =4 (crel ®2l)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
MR A= 206,984 243,274 23,710
HEHE AAG) 174,636 160,944 13,752
g AFHE =X 111,158 100, 171 10,987
HPst ASHHE s 2l 101,728 90,479 11,249
201 L2 | 101,728 90,479 11,249
01 At 22|l 101,728 90,479 11,249
OA=dE HRUY =2 99,728
OA=0IIt SEZAL, ZAF, SRIHPHE
1,084,000& *23024 *5% 12,466
OMNSSOI(G10t) SEZT AL, HAH, EoIgL
CHed 1,084, 0003 x23024 *25% 62,330
OASAD BZIAL AL, OIS
1,084,000& * 11024 %5% 5,962
OAMESOI(AI) HEZ AL, HAH, SOl
CHEH 1,084,000& *7024%25% 18,970
OIEARES 2EY TXT HE
2,500 80074 2,000
MeRI™ AlEd=E ot EHH 7,810 8,182 A372
201 L2 | 7,810 8,182 A372
01 AtR2eltl 7,810 8,182 AN372
O3BAE2 NEUY AHEA =2
390,500 x2H 10 *13] 7,810
AF2SUE 22 1,620 1,510 110
201 Let2| 1,620 1,510 110
01 Ar2eltl 1,620 1,510 110
OU=E=SUE =8 MEEZ 7 1,620
Od==id 258 22y &Y
220,000 =44 880
OH=2UE =X
21,0003 30t A 630
OA=SUE 21=5)| sX 28
55,0002 *2J4 110
SHHA N=H=H 63,538 60,773 2,765
0= el Y B 49,735 46,020 3,715
201 Ler2 | 9,380 6,880 2,500
01 AtR2elt] 9,380 6,880 2,500
O=HYHES 22U dield
10,000 x50 500
OSHd? 22 222 M
5,000& 6004 3,000
O=AFN= ANE AEIH ME
200& *5,0000H 1,000
Oo=g&1=E UL =2l
8,000& x4Hx100 3,200
Oy d? Ch=EH II=Y| 1,680
oz28e= 90,0003 x2E+6Y 1,080




S T AT
B ASWE 243
&Pl SYHAR N=EsS (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oogset=s 100,000 «64 600
206 M=l 3,355 3,140 215
01 MZH| 3,3% 3,140 215
osga1N= FHIUEE JIXM 3,3%
OU0lLZEEX 228 &
4,000& *200Z cil 800
OtH NLIE H&yd
1,0002 3002 & 300
Oot=H Il 7,0003 *40H 280
OulH 20,0002 *10H 200
O =2 MAHE IHH)
175,000 =4 H 700
O&+=2 XA HH(S) 50,0002 =4H 200
O8l#=2 N (&)
25,0002 % 10H 250
OEZ 3,000 *30H 0
O=Hl 25,0002 «6H 150
OAEIHMAM 7,700 *50H 385
307 el2tol & 37,000 36,000 1,000
05 2I2HRIE S 37,000 36,000 1,000
O=¥d 1= s2dH 89
37,000,000 37,000
=8 84 & dEX=E E 13,803 14,753 A950
201 et 3| 12,803 13,803 21,000
01 At22t2l] 8,448 9,448 21,000
Oo=&XXI= WYXl
54,0003 x4 m' x32] 648
Oc-&AX=E EHEH X2 900
OXIAIR 450,000 = 1CH+2& 900
O=8L8d & dNI= 1 2B M
= 3003 *2,0000H 600
O=s8HL84 & d8XI= 28 222 M
= 600 »2,0000HK 1,200
O%ZIi=| s8-8y 5 3,700
OHZIH| = EE 22 2 e
50,0003 * 107K 500
OY RN Sg-Ey SEHEZN
sl 8,000 *208 »20 3,200
Ot&Et Il= 1,400
OoZ22= 90,0003 x25+54 900
odst= 100,000& +5& 500
2 35244l 4,3% 4,355 0
OHERY s852= & HAl 4,355
OXNS XAl 55,0002 1CH 55
OXtered | 4,300,000 *1CH 4,300




SH: M AED
M AZHE A5
el SEER NEHS (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 1,000 950 50
01 MHZH| 1,000 950 50
O=dXXI= gl JINHM 1,000
(@FaFSON 2,000& «75H 150
otdH g & 4,0002 1002 & 400
OiE (ORUHSEHxK) 35,0002 *5H 175
O=4l 25,0002 +5H 125
Odal 15,0002 574 75
Oga x| 15,0002 574 75
HY2EIH(MRAF A=) 92,288 82,330 9,958
Jl=3H| 92,288 82,330 9,958
Jl=23H] 92,288 82,330 9,958
201 er23| 40,188 36,830 3,358
01 At2teltl 29,164 25,806 3,358
OJl=g 83| 500,000 x23& 11,500
OSEHI(OI=3H])
8,000 x23EH 82 * 12 17,664
02 35244l 11,024 11,024 0
ORER=S 9,960
Ooggt 4003 *200S* 122 960
oSl 2,500 x3005+12& 9,000
O™YHAFEHl = AH| 1,064
(@E=PIIEON]. ]| 2,300,000 *1CH*8% 184
O&X= A =]
5,500, 0002 *2CH*8% 880
202 04t 40,800 40,800
01 =LHOHI 14,400 14,400
O©JI1=&H| 20,0002 x 122+ * 122 14,400
02 A0 26,400 26,400 0
OYANEZX 200,000& x11& 128 26,400
203 gF=4| 4,200 4,200
M EASHLRFAH 4,200 4,200
OJIEZHI(2521015t) 350,000& 122 4,200
405 AHatE = 7,100 500 6,600
01 ML ESFSHI 7,100 500 6,600
O2YXHARXE) 300, 0003 *x22H 6,600
O2ITH2ACIXHE) 500,000 * 17K 500




